iz 13
11 LR EARTER

(111%)
1A LA
afrp

=g . . , - =

s Pk B BarA L0 AR RHER | APESAERERR STEERER =

| s (20%) (20%) (20%) (20%) (20%) =

+‘}‘2 ».!E

d4 | 2 4 [ d | iz 4 | H | 4 [ d | iz 4 | H | i H %

2N - x ‘y ;g :5 ¥ - - = . :g ;g y - - x ‘y %{ :g ¥ - - = . :g ;g ¥ - - x _n ;g :g ¥ -

L | el | 2 L e | P | B e e | | B e | e B e | P || B e -

1R o

e 20 18] 15[13[10| 7|5 [20]18]15]|13|10| 7|5 |20|18|15]13]|10| 7|5 |20]|18|15[13]10]| 7|5 |[20]18]15[13[10] 7|5 |

Kyes R PSR AR L ECEN -

’Lm~%%?i’ﬁ¢§mww&wﬂjﬁér%%%iJ mﬁukié%Ai“Féﬁ:ﬁj:%éméﬁérgﬁzgjojw
%gﬁﬁﬁﬁﬁyljﬁﬁ’aﬁﬁﬁﬁﬁﬁuﬁilﬁﬁx&ﬁﬁﬁ
2~%§ﬁ+@1r45(&ﬁAﬁ)“wﬂéﬁ*#@’H%%ﬁiﬁﬁiﬁéﬁhﬁﬁi’iﬂﬁﬁﬁ%éﬁﬁ&ﬁﬁma’ﬁﬁa
AEFT AR APIESMY PSR E SR EE I ﬁ%#ﬂﬁﬁo
3~ HfE R B X %’%ﬁﬁﬁiﬁgaéﬁm;ﬁ@%mﬁﬁ’ﬁi SERAR TR AE & T RFR, LR LR
’mg‘%¢%$%%?2”%r?%7éjﬁ 5a -aﬁgé%?éﬁﬂ%%°




